Year 5 Homework, Summer Term Week 4
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2. Which number is exactly halfway
between 18 and 30?

What is 2/6 of 72?

Round 6512 to the nearest 1000.

Maths: Speedy Six
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1. 43.2 x ? =43,200

0.054 x ? =54
2353.21-234.22 =
What is 3/8 of 144?
3/6 +1/12 =

What is 99% of 350?
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35c¢m — what would be the length
one side?

What is 15% of 920?
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The perimeter of a regular pentagon is

of
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Quick Comprehension: Complete the reading comprehension. Children should allow themselves one

minute to read the text, and five/ten minutes to answer the questions. Some of the questions are quite
tricky, so don’t worry if you have to talk them through with an adult.
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Homework is due in on 15" May
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